< 00, > (M)

<opyp, > ()

<o @> (rad)
o
=
a1

o
[N

o
N

H
T
H

1

2 3
TPlpoT (PCA t%obeamlinélf)

0.052— ---------------- 110 A
SN S T R—
01| RS B T
B SRR ----------------
—0.152— --------------------------------
L 1111 11—

< dcotl>)
o
=
a1

0.95
10

0* 1

—s=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO
—— DQM_V0001_R000000001__Global__mkFitbase2_ RECO

D
(@)
T

N
o
I

(=)
I

........

1

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

—~

<od,> (um

Ratio

100
o] LR
)| SR i1

L) SRR :

L HEE 3 .
L .
20+ ; A
- + .
- H *
oF---------1 ESdndUERRNH JH-ee
B b - .
- HERE ]S
- r .
—20f oo+ - HEHH e
- =T
-+
I E 3R
_40_ .......... N S 8 15 O
L nnl] 1 ARAI i | L
1.u0
L <+
Prmemeeeen s <4 b < R 0 O O

1071 1



	Contents
	Page 1


